levs €8z 28 SL6 T8Y SL 1t6 9€6 871 898 008 IT 810 Z9€ £¥1 TETT7I)
000 000 01 “PTOT-"€T0T 000 000 01 289719253q yoredyuy
06L SIE €207 06L SIE zspaug yted ZST|
00€ 952 9 00£ 9529 £99 999 +1 “PTOT-"€T0T 199999 ¥1 [e}9zsgw 10p[noq ZSHI
S61 680 S $61 630 S £9T 6LE § €207 €97 6LE S SHZINZSIQ ZQNZSA 1B[ONS]
065 L1¥ LT 068 L1¥ L1 000 000 0T €202 000 000 0Z 989Z10Z83( JQZONZSI SHBUNUIUOY
0€S €98 C 0€S €98 T 09€ 69L € €202 09€ 69L € (dgyudas) sozsozsaq JedaSeunur no[mIZo™
000 059 € 000587 € 000 S8T € 000 $9€ "€207-TT0T 000 059 € BSELIRSEABAWI Y3[0) US[dpeq ZsIY gp/ Yohd
9LL 995 1 806 01 1 16L SLE | 898 SEF [1 ¥20Z-1202 898 SEP §1 HPIOWEY QPATLIR ],
Z6€ L00 b€ T6€ L00 bE 0LZ SOL 0% VIOT'ET0T | 0L SOL OF TT0T/$-1/1QEN BATpdirods gzsewiiz1o)
09T €6¥ ¢ 092 €61 ¢ 000 00§ ¢ "€20C 000 005 ¢ ISYZO[ANADY] JBIGIZ SO0 SOA[RYQ[OILSOBO[RAD
008 6€6 008 6€6 008 656 “€20T 008 656 ZQYZsd 14317] 9435 s23oSNZS ZOYSHIRNOWOZ()
000 000 T “YZ0T-£T0T 000 000 ¥Z €207/9110/L-140V A[gd soredsjaiay] 1opig
(I+al= Aq q a o) q A
SIETIX €207 | B-TE TIX €207 JeztuggL 81-I¢ TIX aA3 159700034 53
AP} sazseg susalipL Mnerey | zaor smpuzsenion | sypoon sozoromary SRR 989ZoAUBIM SPLPUIOG

junqQuuLLog

JUUOSBZEYNIA] 3s9)1sa[[9] §9 BJBZAUBIIQP Yosepen] (ISezowey[o)) ISeZeyniag

o1

Zayjojopuad IDZAUPULIONUQ (€74 ) $Z0Z / 6 D 1PY2J1ou °§




